
9

DATE DATE

DATE DATE

DATE DATE

APPROVED/RELEASED

DATECHKDBYCHANGE DESCRIPTIONSYM

REVISIONS DO NOT SCALE DRAWING

ACCORDANCE WITH LATEST ANSI Y14.5
DIMENSIONING & TOLERANCING IN

ACCORDANCE WITH LATEST ANSI B46.1
SURFACE TEXTURE TO BE IN

BREAK SHARP EDGES .03 MAX.
REMOVE ALL BURRS AND

SURFACE ROUGHNESS

.XXX  –

.XX   –
–.X    –

ANGULARDECIMALS

TOLERANCES

ALL DIMENSIONS ARE IN INCHES
UNLESS OTHERWISE SPECIFIED:

RESPONSIBLE ENGINEER

DESIGNER

CHECKED BY

DATEDRAWN BY

MATERIAL

LOG NUMBER

PROJECT MGR.

GP LEADER

DATECHIEF DESIGN ENGINEER

SCALE

SHEET OF

SIZE DRAWING NUMBER

TITLE

ADVANCED PHOTON SOURCE

THIS DRAWING IS THE PROPERTY OF

U
N

I V ER S I T Y

O
A

CIHCFO

Y
R

OT
A

ROBALLANOITAN
E

N
N

O
G

R
A

G

ARGONNE NATIONAL LABORATORY

PARTS LIST

ITEM DWG/PART NUMBER NOMENCLATURE OR DESCRIPTION MATERIAL / SPEC QTY

1234

D

C

B

A

4 3 2 1

A

B

C

D

B2700100-01

B2-700100-01

B2-70 APS FRONT END
2 ND XBPM (BLADE STYLE)
BLADE HOLDER ASSEMBLY

SEE PARTS LIST

.1 [2.5]

.01 [0.25]

.005 [0.13]

0°30’

125

1:1

C1 1

MUSCIA 3/17/00

D. SHU 3/27/00

SHU/MUSCIA 3/17/00

D. SHU 3/27/00

D. SHU 3/27/00

T.M. KUZAY

1
D

B
2

.126 [3.20]

.100 [2.54]

SCALE 4X

10

1 B2-70 BLADE HOLDER OFHC COPPER 1B2-700101-01

2 B2-6 BLABE HOLDER CLAMP OFHC COPPER 2B2-600102-00

9 #4 - 40 X 3/4" LG SOC. HD. SCREW SST/SILVER PLATE 4

10 #2 - 56 X 1/8’ LG. CONE PT. SET SCREW SST/SILVER PLATED 40

3 B2-60 ALUMLINA DISK ALUMINA ADS 996 8B2-600103-00

4 B2-60 DIAMOND BLADE DIAMOND 4B2-600104-00

5 B2-60 COPPER CONNECTOR OFHC COPPER 4B2-600105-00

6 .459 X .392 X .02 SPACER OFHC COPPER 4

7 #2 - 56 X 3/16" LG. PAN HD. SCREW SST 4

8 #2 - 56 UNC 2B NUT SST 4

3
B

3
B

4
B

5
B

7 8

4X ELECTRICAL CONNECTIONS WILL NEED TO BE BENT
TO ALLOW FASTENING THE ASSEMBLY TO THE FIX MASK

.126 [3.20]

6

NOTE:
DIMENSIONS IN [  ] ARE MILLIMETERS AND FOR REF. ONLY

1

1 B2-700100-01 WAS B2-700101-00 M.J.M. D. SHU 3/30/01


